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BACHELOR'S DEGREE PROGRAMME/CES 

4 **-` 	Term-End Examination 
June, 2014 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question No. 1 is 
compulsory. 

1. (a) Define the following terms : 	 1x5=5 

(i) Toxins 

(ii) Environment 

(iii) Halophytes 

(iv) Producers in the ecosystem 

(v) Endangered species 

(b) Fill in the blanks : 	 1x5=5 

(i) For 	 economic growth 
international economic exchanges 
must be on equitable basis. 

(ii) The area which is dedicated to 
conserve the environment, natural 
and historical objects and where all 
private rights are non-existent is 
called 	 
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(iii) Cancers that are similar to 
leukemia and are characterized by 
abnormal production of white blood 
cells by spleen and lymph system 
are called 

(iv) The term 	 denotes the 
enrichment of a water body by input 
of organic wastes containing 
nutrients, chiefly nitrates and 
phosphates. 

(v) The problems of controlling the 
spread of the Thar desert are 
common to both countries India and 

(c) Indicate whether the following statements 
are True (T) or False (F) : 	 1x5=5 

(i) Regular movements of ocean water 
caused by the pull of the Moon and 
the Sun are called 	 

(ii) Increase in human population puts 
more pressure on land. 

(iii) Poverty increases people's capacity 
to use resources in a sustainable 
manner. 

(iv) The flow of energy in an ecosystem 
is unidirectional. 

(v) Cheetah are now extinct in India. 
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(d) Give answer of the following in one 
word/sentence only : 	 1x5=5 

(i) An ingredient which when present 
in food is injurious to health. 

(ii) An animal hunted and captured by 
a predator. 

(iii) The interaction in organisms which 
is beneficial to both species living in 
the same habitat. 

(iv) Any chemical substance or physical 
agent capable of inducing 
inheritable genetic change. 

(v) The NGO that has the slogan of five 
Fs — food, fodder, fuel, fertiliser 
and fibre trees for making 
communities self-sustained in all 
their basic needs. 

2. List the major air pollutants. Describe the effects 
of air pollutants on the climate. 	 10 

3. Write short notes on any two of the following : 2x5=10 

(i) Demographic transition 

(ii) Deforestation due to development projects 

(iii) Salt affectation 

(iv) Wind erosion 

4. What are the characteristic features of Tundra 

and Taiga Biomes ? 	 5+5=10 
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5. (a) Discuss the harmful effects of smoking. 	5 

(b) Discuss the consequences of developmental 
activities on the employment pattern in our 
country, India. 	 5 

6. Give a detailed account of food related health 

problems. 	 10 

7. (a) Discuss biological pest control with the help 
of suitable examples. 	 5 

(b) Explain with the help of suitable examples 
how waste is utilized. 	 5 

8. (a) Why is there a need for wildlife 
conservation ? 
	

5 

(b) Discuss the method of landfill disposal of 
hazardous wastes. 	 5 

9. (a) List any five objectives of the South Asia 
Co-operative Environment Programme 
(SACEP). 	 5 

(b) Discuss with reference to India the effects 
of urbanisation on the environment. 	5 

10. Why should we be concerned about the 
environment ? 	 10 

11. "Public awareness can play a vital role in 
environmental management." Discuss. 	 10 
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